R NEREDRE
mean *+ SD. £f=IX A%1(%)
SMI; Skeletal Muscle Mass Index

KA TAEF—5 8

p-value: B L RIDELES. Mann-Whitney' s U-testE7=(% x 487

HEIEH 24K (8534)
F#n (yr) 73.4+59
BMI 227+29
SMi(kg/m2) 59+1.9
1= BB EE
HITEE (m.sec) 1.4+02
B H(N-m/kg) 349.3+116.9
BHER Bl 3 52 (sec) 32.3+236
OREEEZ B
B %R(0-32) 19.9+8.9
& H1(kef) 5744384
BRE/NT R (%) 25.6+22.9
RIS EEH(RO7) 39+23
&HE(kPa) 332+87
REXEF
AZf 364 (42.7)
B#t 338 (39.6)

C# 151 (17.7)

B (2814)
73.8+6.1
232429
6.9+2

1.4%0.2
450.7%+114.5
33.4%x23.1

19.5+£9.3
65.2+44.3
27.2+t244
4+24
33.9+8.9

116 (41.3)
106 (37.7)
59 (21)

X1t (5724)
73.2+58
224+2.9
54+1.8

1.5%0.2
299.9+80.5
31.8+23.9

20.1+8.6
93.6+34.6
24.7x221
3.8+22
32.9+8.6

248 (43.4)
232 (40.6)
92 (16.1)

P-value
0.08

<0.001
<0.001

0.57
P<0.001
0.31

0.78
0.002
0.25
0.17
0.11

0.8



K2 BHREICEHIBHIAF

BHEEDBRERENHD9Z (TN ERENSEI LT,

SOS: EEBANNBERIGEEE. YAM: BEHDSOSELEELI-EED
fE, mean = S.D. £1=[F A %(%)

p-value: BB D ELEL. Mann-Whitney' s U-testE71=ld x 218 E

AIEIER 24K (7544) B (2814 X4 (47844, P-value
SOS(m/s) 1490.6+23.5 14995+24.8 1485.4=+21.1 <0.001
YAM(%) 755+11.7 79.4+13.1 732+10.1 <0.001
B FRIE 260 (34.5) 65 (23.6) 195 (40.8) <0.001
B =i 287 (38.1) 95 (34.4) 192 (40.2)

IE&E 207 (27.5) 116 (42) 91 (19)
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AN
A

*

7
BRE/NT2 (%)
PHIEAE H(RX7)
&E(kPa)

RE 7
BRE/NTR(%)
REIGHE S1(R7)
&= E(kPa)

P-value

P-value

P-value

P-value

P-value

P-value

P-value

P-value

P-value

P-value

F3: OFFEREEL AR B KU B A EEE DO BEEM
SMI; Skeletal Muscle Mass Index. BMI:Body mass index
R:Spearman® IE {1 #H B8 % £k

21K (8534)

SMI BMI
0.03 -0.06
0.33 0.07
0.11 0.00
0.002 0.99
0.04 0.003
0.23 0.93
0.12 0.02
0.001 0.59
0.20 0.12
<0.001 0.001
21K (8534)
HITEE REE
0.15 0.16
<0.001 <0.001
0.15 0.33
<0.001 <0.001
-0.05 -0.04
0.13 0.27
0.17 0.23
<0.001 <0.001
0.05 0.18
0.14 <0.001

Fr B AT sz
0.20
<0.001
0.21
<0.001
-0.11
0.001
0.22
<0.001
0.17
<0.001

BiE (2814)

SMI BMI
0.09 0.001
0.13 0.99
0.17 0.10
0.005 0.11
-0.040 -0.018
0.51 0.77
0.18 0.11
0.003 0.07
0.31 0.20
<0.001 0.001
B4 (28148)
HITIRE RHE
0.15 0.21
0.01 <0.001
0.19 0.29
0.001 <0.001
-0.066 -0.003
0.28 0.96
0.20 0.25
0.001 <0.001
0.11 0.30
0.07 <0.001

Fr B3 sz
0.18
0.003
0.21
<0.001
-0.033
0.59
0.19
0.002
0.18
0.002

M (5724)

SMI BMI
0.03 -0.10
0.44 0.02
0.03 -0.07
0.472 0.08
0.026 0.006
0.53 0.89
0.10 -0.04
0.02 0.35
0.19 0.06
<0.001 0.131
' (5724)
HITRE REE
0.15 0.21
<0.001 <0.001
0.14 0.34
0.001 <0.001
-0.044 -0.091
0.30 0.03
0.16 0.26
<0.001 <0.001
0.02 0.14
0.61 0.001

Fr BT {5z
0.21
<0.001
0.21
<0.001
-0.156
<0.001
0.23
<0.001
0.16
<0.001
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RE/NT A (%)
PHIERE H(Ra7)
HE(kPa)

P—-value

P-value
R
P-value
R

P—-value

P—-value

T4 OfFEHEELBERELDBEM
SOS; EEEHNDBERIGIERE. YAM: %fﬂﬁumios&tﬁibtaéwﬂi R:Spearman® IE{z 8 B8 {%

M

21K

SOS(m/s) YAM(%)
0.03 0.03
0.46 0.44
0.16 0.15
<0.001 <0.001
-0.04 -0.03
0.27 042
0.12 0.12
0.001 0.001
0.1 0.1
0.001 0.002

Bt

SOS(m/s) YAM(%)

0.03
0.68
0.21
0.001
-0.07
0.27
0.14
0.03
0.09
0.13

0.03
0.61
0.21
<0.001
—0.06
0.30
0.14
0.02
0.08
0.19

M

SOS(m/s) YAM(%)
0.05 0.06
0.29 0.22
0.10 0.10
0.03 0.03
-0.09 -0.07
0.05 012
0.1 0.1
0.02 0.01
0.1 0.10
0.02 0.03



RO BEEREEOEHELDREEMSE

alkBEEFERTENRIZEEZERY. . bEELFHRELORBIZEEEZRY
Friedman's test$ KU % E L (Mann—-Whitney U—-test. P{E ZBonferroniik T )

HHERE BEET EER

B2(0-32) 19.3+8.9 20.4+8.7 20.1+8.8
& F(kef) 50.2+364 579+383 66.7+41.6

BRENTR%) 284+245 2454221 2574229
PHISRE H(Xa7) 3.6=%23 39+23 43+22
T IE(kPa) 32.1+9 33.8+9 345+738

P-value
N.S.

a,b

N.S.

a

a
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